

Multiplication par 10^{-2} (A)

Trouvez chaque produit.

$$94 \times 10^{-2} =$$

$$73 \times 10^{-2} =$$

$$84 \times 10^{-2} =$$

$$62 \times 10^{-2} =$$

$$53 \times 10^{-2} =$$

$$56 \times 10^{-2} =$$

$$28 \times 10^{-2} =$$

$$67 \times 10^{-2} =$$

$$40 \times 10^{-2} =$$

$$18 \times 10^{-2} =$$

$$41 \times 10^{-2} =$$

$$28 \times 10^{-2} =$$

$$63 \times 10^{-2} =$$

$$40 \times 10^{-2} =$$

$$65 \times 10^{-2} =$$

$$27 \times 10^{-2} =$$

$$29 \times 10^{-2} =$$

$$50 \times 10^{-2} =$$

$$42 \times 10^{-2} =$$

$$60 \times 10^{-2} =$$